FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
DUSTIN'S FACE TO FACE GLIDERS

(WITH STANDARD ROOF)




“uas sired ay) UO payJew sJaquinu ay) 01 YdJew 1ou op asay] ‘AJuo 8ouaJajal 10} aJe J[qeL sexog Jo JUaJloy) 8yl Ul siaquinu 1ued :aloN

100]4 a|qenowsy

awel 100|4

syoddng dens

spoddng Ba aseg

=
L

suoddng Ba

‘ON

Buimeaq

uondiiosag

‘1O

S3X04d 40 LNJLNOD

Pl 1

DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)

www.ForeverRedwood.com



“uas sired ay) UO payJew sJaquinu ay) 01 Ydrew 1ou op asay] “AJuo 9ouaJajal 1o} aJe J[qe] sexogd JO JUajuo)) ayl Ul siaquinu 1ed :aloN

pa1apJo §| y
v1 A
S1SalWy abeianag
€T C——] 1e|s T
21 S|aued Jooy 4
1 s9|buell L Z
0T =t SWIY Yyousg 14
6 s1sanoeqg youag Z
8 . suoddng youag 1oys 14
. N suoddng youag Buo v
"'ON Buimeaq uondiiosag ‘A0

S3X04d 40 LNJLNOD

P| 2

DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)

www.ForeverRedwood.com



*8zIS uo Buipuadap AreA [|Im arempiey InoA Jo suolisuswiq ;810N

l,/.,v

[ .r/‘

SINN _.¥/€

C

SIBUSeMN | v/E

\. L e ]

(suoddns sbBaj ay1 01 swire ay1 yoene o] )
syjod .. 9X ..9T/S

\ e P P ]

(suoddns sbaj ay1 01 swie syl yaene o)
syog ,, %9 X . 9T/9

(sjaued Jood ayy 01 1e|S 8yl Yyoene o)
SMaJOS 99 ,.% 2

\. N SRR RS E AR SRR AR R SRR AR

(sa|bureLn ay1 01 sjaued Joold ay) yoene o)
s)jog ,.v X ,.9T/S

T

‘(' suoddns sbaj ay1 01 woddns Ba aseq ay) yoene o])
syod .. X .. 9T/S

"(s1ees yauaq ay) 01 7 1oddns

sBa] ayy ul sdeuls ay} 01 SWIe Yauaq ay} yoene 0] /sieas

yauaq ay} 01 1sax2eq ay1 yaene o] /suoddns sbaj sy
u1 sdeais ayi 01 pue yauaq sy 03 suoddns youaq Hoys ayl
yoene o] /suoddns sbaj ayn ul sdesis ay 01 1eas yauag ayl
yoene 0] /Aeas yauaq ayl 01 suoddns yauaq Buoj syl yoene

0] /1ay1ab01 spoddns sBaj ay1 Jo sadeiq syl yoene o)

sjog .. € X ..9T/9

*(1ayreboy suoddns sbaj ayy Jo SadrIq AU} Yoene 0] )
siod .9 X ..9T/S

‘(suoddns sbaj ayy 01 sajbuels ay) yoene
0 /suoddns sbaj ayy ui sdesis ayy 01 Loddns sdens ayy
yoene o] /18yiabol suoddns sBa| sy Jo sadelq syl yoene o)
siog ,.% ¥ X ..9T/S

‘ON

Buimeag

uondiiosag

1S1ITT 3dVMALVH

P|3

DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)

www.ForeverRedwood.com



o o| w9 | | m < L=
= — ™ < [Te) © ~ (o] — — — — — EB&
C =
[15]
gEg
o @
© = C
S -
" 2| g ” Qg s
Z = %) S S S %) = 2 g
@) 2 Q = ® o " Qo QL | o " < S a3
~ j o o —_ - o Q @ c K] = O C_GCJX
- =} o o IS Lo © > > i~ 4] [9] €D = —
o | 3 | © o | | " S| 2 c [ F o S
a2 | S| |22l &8 |2 8| B8|<S8 S - E 3
= 2 o D S| < | o |l m| < S| & | = v O L =
[ad (%] — ] - (%]
Sl ol 288|565 S| 28|22 €565
O (2] 1 o 8 3 c @ ) < c = o 2o €55
D Pl ol s|locle|l gl 228 S e S98
w 3| 3|z 8|®|oleg|a|® o > EoE
e © [7p] o c o m [<5) - 5
o S| s o s 2L c
» ne o
05
o = =
5 5L
Z L
—>
— 3
'y
- ///
77 LV '
—>
R \ &
e -\%‘M
->

P4
DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com



Step 1: Attach the braces in the leg supports (1) together with 5/16™" x 4 ¥%2"" bolts (A) & 5/16"” x 6" bolts (B) as shown in the
image. After that, attach the braces in the legs supports with 5/16”" x 3 % *” Bolts (C). Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

5/16”" X 3 %" Bolts

5/16" X 4 %" Bolts

5/16” X 6"" Bolts

Step 2: Assemble the base leg support (2) to the legs supports with 5/16"” x 3"" bolts (D) as shown. Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

5/16"" X 3"" Bolts

P|5
DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com



Step 3: Use 5/16”" x 4 %2"” bolts (A) to attach the straps supports (3) to the straps in the legs supports (1). Each part has a series
of numbers that indicate where to attach the part with the corresponding number.

5/16" x 4 ¥%2"” Bolts

Step 4: Attach the floor frame (4) to the straps in the legs supports with %"~ washers & nuts (I & J). Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

Y%~ Washers

P| 6
DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com



Step 5: Put the removable floor (5) over the floor frame. Each part has a series of numbers that indicate where to attach the part
with the corresponding number.

Step 6: Use 5/16"" x 3 %" bolts (C) to attach the long bench supports (6) to the bench seat (7). Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

5/16" X 3% Bolts

P 7

DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com



Step 7: Use 5/16” x 3% bolts (C) to attach the bench seat (6) to the straps in the legs supports. Each part has a series of numbers

that indicate where to attach the part with the corresponding number.

DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com

5/16" X 3% Bolts

5/16"" X 3% Bolts

Step 8: Attach the short bench supports (8) to the bench seats and to the straps in the legs supports with 5/16” x 3 %2"" bolts (C).
Each part has a series of numbers that indicate where to attach the part with the corresponding number.

P| 8



Step 9: Attach the bench backrests (9) to the bench seats with 5/16" x 3 %" bolts (C). Each part has a series of numbers that

indicate where to attach the part with the corresponding number.

5/16"" X 3 %" Bolts

Step 10: Use 5/16"" x 3% bolts (C) to attach the bench arms (10) to the straps in the legs supports and to the bench seats. Each
part has a series of numbers that indicate where to attach the part with the corresponding number.

DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com

5/16"" X 3% Bolts

Pl 9



Step 11: Use 5/16 x 4 %" bolts (A) to attach the triangles (11) to the legs supports. Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

5/16" X 4 %" Bolts

Step 12: Attach the roof panels (12) to the triangles with 5/16" x 4 bolts (E). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16" X 4" Bolts

P| 10
DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com



Step 13: Attach the slat (13) to the roof panels with 2 %2"" deck screws (F). Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

2 %" Deck Screws

Step 14: Finally, use 5/16"" x 5 %" bolts (G) & 5/16”" x 6 %" bolts (H) to attach the arms (14) to the legs supports. Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

5/16” X 6 %" Bolts

5/16" X 5 %" Bolts

Pl 11
DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com



This completes the Glider assembly. Hope you enjoy your set for many decades. If you ever have a
problem or a question, don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 12
DUSTIN’S FACE TO FACE GLIDERS (WITH STANDARD ROOF)
www.ForeverRedwood.com



